1. ¥%4
kG4 A0 6 AFFE [ - 2% B v R K P I SE S
AT AT JE AR VR F T = FRET H PN

1) FEEFA 64 9A 7) fE T F R IR
2) FEBHA e TN [EhE F BT TR R 8) H X 22X
3) EEBES 24873739020009 9) Wl - B
4) RIXSy Eff @zat) ONEs 10) BEHENA A 64 TH
5) AR L 1) Frgss 55 0%
6) JE1THIH 392 HH B &f1 64 97 4H 1 2) HifffiE 4R A FF 64 8H
(447) £ A TH 9A30H 13) HhEMEA S 64 8
(# mEH) = £ A A 14) AR |
15) RiSKVEH M
BaoLz ES 1ok
3. PHAH
1) THAA 2) H 3) HoO#Msy 4) HEA

r E 5 R A R



RE PR

R4 | A6 ARHE I - I B A R 7 % RS
5 H KSR
SUH - CRE - A - A Kk Hfi Hoht HEf & BRI SR s
KSR
X 1 19, 583, 018
KB
X 1 19, 583, 018
i
K 1 433, 000
T AR
K 1 433, 000
L A
K 1 1, 260, 000
L4 4 N2
K 1 1, 260, 000
A
=« 1 17,890, 018
A AL o1
[=] 96 9, 180 881, 280
-1- RS FO MV D



RE PR

W4 | BTN 6 AR S - 2% B I O T L it 2 S E BB
H H RS
TEH - TR - FER - prkiS HAAT B BT KR PRk A EIER T

fidi 2K B B 2 =
=] 252 9, 008 2,270,016

IRAEAERLA B 3 B
=] 108 8, 257 891, 756

I o E7K AR H 4
] 342 8, 257 2,823, 894

kg Bk BER Hi 5 &
] 36 8,336 300, 096

A FRE - Wk B 6 =
] 132 17,930 2, 366, 760

= FIEBH H E=
] 132 8, 150 1, 075, 800

Wi - iR IR Hi 8 =
] 48 17, 690 849, 120

I K2 R PH, EC, W, /K B 9 =
=] 934 4, 400 4, 109, 600

-2 - [E -2z PIEHG AR R



Fﬁnﬂjﬂpﬁ%

L | B0 6 FE R - 2 E R R SR 2R E WS
H H IR SCHELH
TEHH - IR - f - M) HAE BT & =S i SFH Ho SEEHE fi
K B 10 &
5] 128 4,482 573, 696
KB BRI HT AR K SRR 16T H B 5
5] 112 12, 000 1, 344, 000
KRR AT gk, ~ v, T, HRY, R H 125
B 16 12, 500 200, 000
KBRS AT (bR B 3R Bk ECOD 13 &
B 24 3, 500 84, 000
KRR AT A1 ER R 2D0 H 145
B 24 3, 000 72, 000
KRR AT TR ESS H 155
B 24 2,000 48, 000
SIS ]
= 1 238, 950
Jid
= 1 238, 950
-3 - [E -2z PIEHG AR R



RE PR

L | B0 6 FE R - 2 E R R SR 2R E WS
H H Bi i
THE - T - FER - M5 HAE BT & =S i AFA Ho SEEHE fi
e
= 1 238, 950
rad H 3 &
= 1 238, 950
[R5t
=X 1 260, 877
[R5 ¢
=X 1 260, 877
TR AL
=X 1 94, 877
i (FFHE - BmRE) ] 4 =
=X 1 94, 877
CREDE SN0 % ¢
= 1 166, 000
B AR S ERC H 5 &
= 1 166, 000
-4 - [E -2z PIEHG AR R



RE PR

L | B0 6 FE R - 2 E R R SR 2R E WS
H H X3 EEE
HH - TfE - fE5 - 5] HAE BT & =S i AFA Fe R BB fi
BB
= 1 20, 082, 845
kR
= 1 11, 367, 155
FETRE W 6 =
= 1 11, 367, 155
il iy
=X 1 31, 450, 000
THE B %0
=X 1 3, 145, 000
WEFEHE
=X 1 34, 595, 000

-5 - FEszdmd  H E TR



N = =+ HA 8 4 A 2024. 08
1 /j 5Q W ﬁR AR E A A 2024. 08
— = 95 BB AR L 1. 000-0000-0000-0000-0000-1-0 0
175 & i e
EH - Bk eSS HLAZ Kok HLif | LES
= e " 7 B
A 1 433, 000
433, 000
N = AL AF A 2024. 08
1 /’% W 5 =B BEEMEA | 2024. 08
M FESFEAEHE | 1.000-0000-0000-0000-0000-1-0 0
2 5 Bl s A
HH AR - i ESis HLAY Kok L Aif Ex e
T A M 8 &
X 1 1, 260, 000

1, 260, 000

FEszdmd  H E TR



HL{i 3 FH 47 A 2024. 08
A A2 A 2024. 08
TR 1. 000-0000-0000-0000-0000-1-0 0

1 W

%Lljll
I

3= TE%
HH LW - B et HAL & HAm &KE eSS
aw N 9 =
=, 1 238, 950
238, 950
= iﬁ B 6 FH AF H 2024. 08
1 yj 5( W o BEEER | 2024. 08
H = ESHEIER | 1.000-0000-0000-0000-0000-1-0 0
4 = e (RELE - 15104)
HH L - B ESH HAAT Yo B Ex 1| e
[ERIN =
= 1 16, 942, 468
i (REFL - EIRE)
A2 X 0. 0056
= 1 94, 877
94, 877

-2 - FEszdmd  H E TR



Al 4 A 2024. 08

AR AR A 2024. 08
TR 1. 000-0000-0000-0000-0000-1-0 0

::%5
I

1 % W F

5 & R VER
THH LW - B M HAL s HAT x| T L
EE A
= 1 16, 942, 468
CERD % ST D % ¢ 2. 3X EH A (FFH) 0. 44
(FHARmEI Y #70)
= 1 166, 000
166, 000

FEszdmd  H E TR



Al 4 A 2024. 08
AR A A 2024. 08
TR 1. 000-0000-0000-0000-0000-1-0 0

/S

H>L]ljll
I

3¢
AT R e BT BE Wl o —
[ERER R
RARTEE & Br<
A 1 18, 334, 845
BAES- &3
% 62
RS X SRR
A 1 11, 367, 603
~448
11, 367, 155

-4 - FEszdmd  H E TR



B 6 FH AF H
/fﬂﬁ 2% 55 38 1
TR 1. 000-0000-0000-0000-0000-1-0 0
B 5 H LKA EHELHI i . s .
B i=%
B 9, 180
THH LT - B HAL gy HAT x| T L
YRR i B 16 &
9, 180
B
M/ 1E]
B 6 FH AF H
/fﬂﬁ S 4
5 R Rk 1. 000-0000-0000-0000-0000-1-0 0
B 2 5 (A=W ITA -] i 5 .
Y7 - "
B 9,008
HHE LT - B HAAT HAfff HE
fib Bt AN LI B 5
9,008
HA
M./ [al

FEszdmd  H E TR



N AW Al 4 A 2024. 08
/ﬁ( ’f ﬂﬁ i’% A A A 2024. 08
TR 1. 000-0000-0000-0000-0000-1-0 0
35 IRAAZ AL - % y
HAAT [ o AT
1 8, 257
THH LT - B M HAL s HAT x| T L
IRAAZ AL H 18 &
B 8, 257 8, 257
8, 257
B
8,257 |MH
N AW Al 4 A 2024. 08
/frﬁ: /f ﬂﬁ 2% A AF A 2024. 08
5 R Rk 1. 000-0000-0000-0000-0000-1-0 0
4 =5 KBk BB NV % i
HAAT [a] o AT
1 8, 257
HHE LT - B eSS HAAT i HAfff SFH HE
RaiE/K BB B9 5
] 8, 257 8, 257
8, 257
HA
8,257 |, [al
-2 - [E -2z PIEHG AR R



N AW Al 4 A 2024. 08
/ﬁ( ’f ﬂﬁ i’% A A A 2024. 08
TR 1. 000-0000-0000-0000-0000-1-0 0
5 &5 kg Bk A B §
HAAT [ o AT
1 8, 336
HH LT - B M HAL s HAT X | T L
ke Bk A B2 &
B 8,336 8, 336
8, 336
B

8,336 | H
N AW Al 4 A 2024. 08
/ﬁ( ’f ﬂﬁ i’% A HhE A A 2024. 08

5 R Rk 1. 000-0000-0000-0000-0000-1-0 0
6 = A FRE - FE o § }
HAAT [a] o AT
1 17, 930
HHE LT - B eSS HAAT i HAfff SFH HE
=)y FERE - HE M2 5
5] 17, 930 17,930
17,930
HA
17,930 |5
-3 - [E -2z PIEHG AR R



B 6 FH AF H
/fﬂﬁ 2% 55 38 1
TR 1. 000-0000-0000-0000-0000-1-0 0
B = =y FEEHE i . n e
B i=%
" 8, 150
THH LT - B HAL K HAT x| T L
=y FEBHE B 25
8, 150
B
M/ 1E]
B 6 FH AF H
/fﬂﬁ S5 A
5 R Rk 1. 000-0000-0000-0000-0000-1-0 0
B 8 Wi - it AL i % e
Wi - ”
B 17, 690
HHE LT - B HAAT HAfff HE
Wi - s AL B 235
17, 690
HA
M./ [al

FEszdmd  H E TR



N AW Al 4 A 2024. 08
1 /j 5( ’fﬂﬁ i’% A A A 2024. 08
TR 1. 000-0000-0000-0000-0000-1-0 0
9 5 B R PH., EC. . KiRE ) §
HAAT [ o AT
1 4, 400
HH LT - B M HAL s HAT 448 T L
K AR B9 e
B 4, 400 4, 400
4, 400
B
4,400 | =
N AW Al 4 A 2024. 08
1 /j 5( ’f ﬂﬁ i’% A HhE A A 2024. 08
5 R Rk 1. 000-0000-0000-0000-0000-1-0 0
10 % %\Téﬂ( 3 e N7
HAAT [a] o AT
1 4,482
HHE LT - B F HAAT i HAfff 448 HE
oK W25
] 4, 482 4, 482
4, 482
HA
4,482 M./ [al
-5 - [E -2z PIEHG AR R



N AW Al 4 A 2024. 08
1 /j 5( ’fﬂﬁ i’% A A A 2024. 08
TR 1. 000-0000-0000-0000-0000-1-0 0
1% KGR SHT R K A5 7R 1676 H B }
HAAT [ o AT
1 12, 000
THH LT - B M HAL s HAT x| T L
RGBT o262
B 12, 000 12, 000
12, 000
B
12,000 | =
N AW Al 4 A 2024. 08
1 /j 5( ’f ﬂﬁ i’% A HhE A A 2024. 08
5 R Rk 1. 000-0000-0000-0000-0000-1-0 0
12 5 KERBRS BT B~ W, AR, EESR o § }
HAAT [a] o AT
1 12, 500
HHE LT - B eSS HAAT i HAfff SFH HE
KRG RRIHT M7 5
5] 12, 500 12, 500
12, 500
HA
12,500  |M,[=]

FEszdmd  H E TR



N AW Al 4 A 2024. 08
1 /j 5( ’fﬂﬁ i’% A A A 2024. 08
TR 1. 000-0000-0000-0000-0000-1-0 0
13 & KE RS HT {50 R 3R Bk #:C0D o j §
HAAT [ o AT
1 3, 500
HH LT - B M HAL s HAT 448 T L
AEFRER AT B 98 &
B 3, 500 3, 500
3, 500
B
3,500 |[9,/[A]
N AW Al 4 A 2024. 08
1 /j 5( ’f ﬂﬁ i’% A HhE A A 2024. 08
5 R Rk 1. 000-0000-0000-0000-0000-1-0 0
14 & KBRS HT A1 ER SR =D0 o j §
HAAT [a] o AT
1 3, 000
HHE LT - B eSS HAAT i HAfff 448 HE
KRG RRIHT Hoo29 5
] 3, 000 3, 000
3, 000
HA
3,000 | =]
-7 - [E -2z PIEHG AR R



N AW Al 4 A 2024. 08
1 /j 5( ’fﬂﬁ i’% A FHAE A 2024. 08
TR 1. 000-0000-0000-0000-0000-1-0 0
TKE BRSOy HT TR ESS \ ‘
BT | N AT
1 2, 000
{4 HAL s HAT x| T L
AEFRER AT B30 &
B 2,000 2, 000
2, 000
2,000 | H
-8 - [E -2z PIEHG AR R




